-0.28

seusuviy

bpm1X_coill(um/count)

~03F

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

bpm1X_coil7(um/count)

)
w

0.25]

5640 5650 5660 5670 5680 5690
cycle ID

-0.012|

-0.014]

-0.016|

-0.018

-0.02

-0.022|

-0.024]

bpm1X_coil3(um/count)

-0.026

1 L 1 1
5640 5650 5660 5670 5680 5690
cycle ID

bpm1X_coil2(um/count)

0.015

0.0:

0.005

o

-0.005

-0.0;

-0.015|

-0.02

5640 5650 5660 5670 5680 5690
cycle ID

bpm1X_coil4(um/count)

-0.01

-0.02

bpm1X_coil6(um/count)

1
5640

" 1 l 1 1
5650 5660 5670 5680 5690
cycle ID

bpm1X_coil5(um/count)

0.075

0.065

0.055

5640

5650 5660 5670 5680 5690
cycle ID

1
5640

L 1 1 L
5650 5660 5670 5680

1
5690
cycle ID



bpm4aY_coil1(um/count)

‘U.UU/_—
0.006f
0.005fF (]
0.004f
0.003fF
0.002F
0.00f
of
Bl 1 L 1
5640 5650 5660 5670 5680 5690
cycle ID
bpm4aY_coil7(um/count)
0
-0.005
-0.0:
-0.015
-0.02
5640 5650 5660 5670 5680 5690
cycle ID

0.005

0.0045|

0.004

0.0035

0.003

0.0025

0.002

0.138

0.136

0.134

0.132

0.128

0.126

bpm4aY_coil3(um/count)

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID
bpm4aY_coil2(um/count)
+ & 1 1
5640 5650 5660 5670 5680 5690
cycle ID

' 0.208|

0.206

0.204

0.202

0.2

0.198

0.196

0.194

0.192

bpm4aY_coil4(um/count)

1
5640

L
5690
cycle ID

L. 1 2l 1
5650 5660 5670 5680

bpm4aY_coil5(um/count)

0.0015

0.001

0.0005

0.0005

—-0.001

0.0015

-0.002

0.0025

5640

5650 5660 5670 5680 5690

cycle ID

bpm4aY_coil6(um/count)

0.0
0.06f # # ﬂ
0.058[~
0.056~
0.054f~
005 ) 2l 1 1 a1 1
5640 5650 5660 5670 5680 5690
cycle ID



-0.275)

-0.28

-0.285

-0.29

-0.295)

I
=3
w

-0.305)

-0.31

-0.315]

seusuviy

o
N
o]

bpm4eX_coil1(um/count)

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

bpm4eX_coil7(um/count)

Vo

5640 5650 5660 5670 5680 5690
cycle ID

bpm4eX_coil3(um/count)

-0.034]

-0.036|

-0.038|

-0.04

-0.042|

-0.044

5640

1 L 1 1
5650 5660 5670 5680 5690
cycle ID

bpm4eX_coil2(um/count)

0.015

0.0:

0.005

=

-0.005|

-0.0;

5640

5650 5660 5670 5680 5690
cycle ID

bpm4eX_coil4(um/count)

-0.005

-0.01

1 1, 1 1l 1 oL
5640 5650 5660 5670 5680 5690
cycle ID

bpm4eX_coil5(um/count)

0.095

0.085

0.075

5640 5650 5660 5670 5680 5690
cycle ID

bpm4eX_coil6(um/count)

0.006~

0.004

0.002

-0.002|

-0.004]

-0.006|

1
5640

L 1 1 L
5650 5660 5670 5680

1
5690
cycle ID



bpm4eY_coill(um/count)

" 0.009)
0.008]
0.007]
0.006]
0.005]
0.004
0.003]

0.002]

1
5640

1 1 1
5650 5660 5670 5680

bpm4eY_coil7(um/count)

L
5690
cycle ID

-0.005)

-0.015]

-0.02
5640

5650 5660 5670 5680

5690
cycle ID

bpm4eY_coil3(um/count)

0.0055

0.005

0.0045

0.004

0.0035

0.003

0.0025
5640

1
5690
cycle ID

1 1 1
5650 5660 5670 5680

bpm4eY_coil2(um/count)

0.128

0.126

0.124

0.122

0.118

0.116

0.114]
5640

Y

5650 5660 5670 5680 5690

cycle ID

bpm4eY_coil4(um/count)

0.218
0.216

0.214

0.208
0.206
0.204

0.202

i

1 1, 1 1
5640 5650 5660 5670 5680

bpm4eY_coil5(um/count)

L
5690
cycle ID

0.0005

—-0.001

0.0015

-0.002

0.0025

-0.003

0.0035

-0.004

5640

5650 5660 5670 5680

5690
cycle ID

bpm4eY_coil6(um/count)

0.008

0.006

0.004

0.002

-0.002|

#& §{-}

$

-0.004

1
5690
cycle ID

1 il 1 L il
5640 5650 5660 5670 5680



sensiuviy

bpm12X_coil1(um/count)

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

bpm12X_coil7(um/count)

o

—0.4]

705"’? L

5640 5650 5660 5670 5680 5690
cycle ID

-0.074]

-0.076|

-0.078|

-0.08

-0.082|

-0.084]

-0.086|

-0.088|

-0.09|

bpm12X_coil3(um/count)

0.025

0.015

0.0;

0.005

o

-0.005|

-0.0;

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID
bpm12X_coil2(um/count)
[ ]
5640 5650 5660 5670 5680 5690
cycle ID

-0.0

-0.02

-0.03

bpm12X_coil4(um/count)

bpm12X_coil6(um/count)

L L, L | 1
5640 5650 5660 5670 5680

bpm12X_coil5(um/count)

1
5690
cycle ID

0.125

0.115

0.105

5640 5650 5660 5670 5680

5690
cycle ID

L 1 1 L
5650 5660 5670 5680

1
5690
cycle ID




bpm11X_coill(um/count)

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

bpm11X_coil7(um/count)

0 @

—-0.05

-0.15

e o S

5640 5650 5660 5670 5680 5690
cycle ID

-0.024]

-0.025|

-0.026|

-0.027|

-0.028|

-0.029|

-0.03|

bpm11X_coil3(um/count)

1 L 1 1
5640 5650 5660 5670 5680 5690
cycle ID

bpm11X_coil2(um/count)

0.012

0.0:

0.008

0.006

0.004

0.002

=)

-0.002|

5640 5650 5660 5670 5680 5690
cycle ID

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

bpm11X_coil4(um/count)

1
5640

" 1 l 1 1
5650 5660 5670 5680 5690
cycle ID

bpm11X_coil5(um/count)

0.048

0.046

0.044

0.042

0.038

5640

5650 5660 5670 5680 5690
cycle ID

bpm11X_coil6(um/count)

1
5640

L 1 1 L
5650 5660 5670 5680

1
5690
cycle ID



bpm4aX_coil1(um/count)

-0.295)

|
o
w

-0.305)

-0.31

-0.315]

-0.32]

-0.325]

E T l‘l

Bl 1 1 1

5640 5650 5660 5670 5680 5690
cycle ID

bpm4aX_coil7(um/count)

seusuviy
o
w

0.25]

0.2]

b oib-4uil Vo

5640 5650 5660 5670 5680 5690

cycle ID

-0.028|

-0.03]

-0.032]

-0.034]

-0.036|

-0.038|

0.025

0.015

0.0;

0.005

o

-0.005|

-0.0:

-0.015|

bpm4aX_coil3(um/count)

1 1 1
5660 5670 5680

1
5690

5640 5650
cycle ID
bpm4aX_coil2(um/count)
5640 5650 5660 5670 5680 5690
cycle ID

bpm4aX_coil4(um/count)

-0.005

-0.01}

-0.015

0.085

0.075

E. . 1, 1 2l 1 1
5640 5650 5660 5670 5680 5690
cycle ID
bpm4aX_coil5(um/count)
5640 5650 5660 5670 5680 5690
cycle ID

bpm4aX_coil6(um/count)

0.008

0.006

0.004

0.002

-0.002|

-0.004]

-0.006|

F [ ]
.1 L 1 1 ol 1
5640 5650 5660 5670 5680 5690
cycle ID



> F
iU +
I
n -
205F {?}
105F
19F '+
185F {’{:*
18F ‘+
E..1 1 1 L AL
5640 5650 5660 5670 5680 5690
cycle ID
usl_coil7(ppm/count)
B
= 10]
z #
3

usl_coill(ppm/count)

Loy

| R
u :

5640 5650 5660 5670 5680 5690
cycle ID

usl_coil3(ppm/count)

1 1 1
5650 5660 5670 5680

1
5690

5640
cycle ID
usl|_coil2(ppm/count)
5640 5650 5660 5670 5680 5690
cycle ID

usl_coil4(ppm/count)

sensitivity

o
o

45

1
5640

L. 1 2l 1
5650 5660 5670 5680

usl_coil5(ppm/count)

L
5690
cycle ID

5640

5650 5660 5670 5680

5690
cycle ID

usl_coil6(ppm/count)

1
5640

L 1 1 L
5650 5660 5670 5680

1
5690
cycle ID



usr_coill(ppm/count) usr_coil3(ppm/count) usr_coil4(ppm/count) usr_coil6(ppm/count)

B 2 9F -
H 2 °F
2 =2 2 E
H 5 F
3 3 .
8 o
-2.2| 02k
-16fF s
E -2.4]
-16.5F 'I
E 1 = 6 .
e l [ 111 26
-5 -2.8] s
-18F .
E -3
-185F A .
—10F -3.2]
E 1 1 1 1 1 1 1 1 1 a 1 1 | 1
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5650 5690 5640 5650 5660 5670 5680 5690
cycle ID cycle ID cycle ID cycle ID
usr_coil7(ppm/count) usr_coil2(ppm/count) usr_coil5(ppm/count)
240 z
=3 =
z z
3 35) 3 6.5
30) 4
6
25 3.5]
3| 55 ]
20)
I
T
18] 2.5
5
10] 2
5 15| 45
0|
(] L T T P P T
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690

cycle ID cycle ID cycle ID



dsl_coill(ppm/count)

=)

—0.05]

-0.

1
5640

1 1 1
5650 5660 5670 5680 5690
cycle ID

dsl_coil7(ppm/count)

5640

5650 5660 5670 5680 5690
cycle ID

dsl_coil3(ppm/count)

5640

1 1 1
5650 5660 5670 5680

dsl_coil2(ppm/count)

1
5690
cycle ID

o

5640

5650 5660 5670 5680

5690
cycle ID

dsl_coil4(ppm/count)

—01f

]

1

4]
5

1
5640

i L L L L
5650 5660 5670 5680 5690
cycle ID

dsl_coil5(ppm/count)

-0.05

5640

5650 5660 5670 5680 5690
cycle ID

dsl_coil6(ppm/count)

-0.02

-0.04|

-0.06

1
5640

L 1 1 L
5650 5660 5670 5680

1
5690
cycle ID



sensiuviy

dsr_coil1(ppm/count)

1 1 1 1 1 1
5640 5650 5660 5670 5680 5690

cycle ID
dsr_coil7(ppm/count)
0.2]
0..
0|
-0.:
-0.2
5640 5650 5660 5670 5680 5690
cycle ID

dsr_coil3(ppm/count)

o
o
2

LB e e

-0.02

-0.04|

-0.0¢
5640

5650 5660 5670 5680 5690
cycle ID

dsr_coil2(ppm/count)

5640

5650 5660 5670 5680 5690
cycle ID

dsr_coil4(ppm/count)

5640 5650 5660 5670 5680 5690
cycle ID
dsr_coil5(ppm/count)
0.4

0.05F
o
-0.05
-0~

5640 5650 5660 5670 5680 5690

cycle ID

dsr_coil6(ppm/count)

-0.02

-0.04]

-0.06

5640

5650 5660 5670 5680

5690
cycle ID




!
©
2

=
P T TT T R CT T T T T T

|
N
=)

-10.5

-1

-11.5]

|
N
S

-12.5]

sensitivity

atll_coil1(ppm/count)

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

atll_coil7(ppm/count)

N
&

8
A0 o0
Myt

15 ¢ o

5640 5650 5660 5670 5680 5690
cycle ID

sensviy

!
o
@

-1.8]

atll_coil3(ppm/count)

5640

5650

1
5660

1
5670

1
5680

atll_coil2(ppm/count)

1
5690
cycle ID

5640

5650

5660

5670

5680

5690
cycle ID

atll_coil4(ppm/count)

—35F

atll_coil6(ppm/count)

1
5640

L. 1 2l 1
5650 5660 5670 5680

atl1_coil5(ppm/count)

L
5690
cycle ID

sensitivity
S
T

5640

5650 5660 5670 5680

5690
cycle ID

1
5640

L
5650

1
5660

1
5670

il
5680

1
5690
cycle ID



sensitivity

sensitivity

atl2_coil1(ppm/count) atl2_coil3(ppm/count) atl2_coil4(ppm/count) atl2_coil6(ppm/count)

5|
26

4.5|
24~

4|
22

3.5]

r " +l

W
S
T

3.

.a
sensitivity

w
S

~
N
R LN LS L L L aa e e e

N

3
~
@

n
o

[N
S5

N
i

N
o

20

-35k

1 1 1 1 3| 1 1 1 1 1 1 1 1
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690

1 L L L Ll 1
5640 5650 5660 5670 5680 5690
cycle ID cycle ID cycle ID

cycle ID

atl2_coil7(ppm/count) atl2_coil2(ppm/count) atl2_coil5(ppm/count)

90)

=& S WP

15]
60)
14
50)
13|
40| l l l
30 12]
20| 11
10]
10 -10.5

0| [] 9

T NS PSS EEE TS W R v
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690
cycle ID cycle ID cycle ID




sensmviy

H
©
o

sensitivity

atrl_coill(ppm/count)

N
S

=
o
RN R L B n LA RN KRR e o

—lo—
—teo—
—le——

L
5690
cycle ID

1 1 1 1
5640 5650 5660 5670 5680

atrl_coil7(ppm/count)

®

o

I3
it +ﬁ+

*
*2 # 3

5640 5650 5660 5670 5680 5690

cycle ID

atrl_coil3(ppm/count)

5640

1
5690
cycle ID

1 1 1
5650 5660 5670 5680

atrl_coil2(ppm/count)

=
2
o
&

5640

5660 5670 5680 5690

cycle ID

5650

sensiviy

sensitivity

atrl_coil4(ppm/count)

.

I
I

1 1, 1 1l 1 oL
5640 5650 5660 5670 5680 5690
cycle ID

atrl_coil5(ppm/count)
5640 5650 5660 5670 5680 5690
cycle ID

sensiuviy

atrl_coil6(ppm/count)

[
o

N

0.5]

1 il 1 L il
5640 5650 5660 5670 5680

1
5690
cycle ID



sensitivity

sensitiity

atr2_coil1(ppm/count) atr2_coil3(ppm/count) atr2_coil4(ppm/count) atr2_coil6(ppm/count)

_uF > z E
F £ -05 5 s
[ H 2 45 2
3 3 3
[ 2 2 2
-16f o= 3 3
[ -1.5]
-18f 40
[ -2
-20 -2.5]
[ 35
-22F 3
N -35
Py
N 4| 20k
26~ -4.5|
L 1 1 1 1 -5 1 1 1 1 5| 1 1, 1 2l 1 1 1 a 1 1 | 1
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690
cycle ID cycle ID cycle ID cycle ID
atr2_coil7(ppm/count) atr2_coil2(ppm/count) atr2_coil5(ppm/count)
160| % 12
G
SLa%S sape o 5
140 o
120 22
100 20
80) 18
60)
16|
40|
14
20)
12]
0 [}
fc] TIPSl IS NS NS IS M
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690

cycle ID cycle ID cycle ID



sensitivity

sensiuviy

IS
S

4.

w

IS
o

4.

N

w
©

sam1_coil1(ppm/count)

cycle ID

sam1_coil7(ppm/count)

1 1 1 1
5640 5650 5660 5670 5680 5690

¢

5640 5650 5660 5670 5680 5690
cycle ID

——

sensiviy

!
o
e
T

sam1_coil3(ppm/count)

0.5]

0.4]

0.3]

sam1_coil4(ppm/count)

1 L 1 1
5640 5650 5660 5670 5680 5690
cycle ID

sam1_coil2(ppm/count)

|
>
LB i o e e e e e

L. 1 2l 1
5650 5660 5670 5680 5690

cycle ID

sam1_coil5(ppm/count)

sam1_coil6(ppm/count)

t

5640 5650 5660 5670 5680 5690
cycle ID

5650 5660 5670 5680 5690
cycle ID

L 1 1 L
5650 5660 5670 5680

1
5690
cycle ID




sam2_coil1(ppm/count)

sensitivity
@
3

T

@
=

2
2
T

il

1
5640

1 1 1
5650 5660 5670 5680 5690
cycle ID

sam2_coil7(ppm/count)

5640

5650 5660 5670 5680 5690
cycle ID

2
o
8

sensitivity

sam2_coil3(ppm/count)

1 L 1 1
5640 5650 5660 5670 5680 5690
cycle ID

sam2_coil2(ppm/count)

5640 5650 5660 5670 5680 5690
cycle ID

sensitivity

sam2_coil4(ppm/count)

1 1. 1 1l 1 oL
5640 5650 5660 5670 5680 5690
cycle ID

sam2_coil5(ppm/count)

5640 5650 5660 5670 5680 5690
cycle ID

sensitivity

sam2_coil6(ppm/count)

N

.

1 il 1 L il
5640 5650 5660 5670 5680

1
5690
cycle ID



sensitivity

@« w w @ @ @
& & -3 ] & ]
T T T T T[T T T [T T

—

-

-

-

w
&

W
@

sam3_coil1(ppm/count)

f

—e=9
—e
—o=%

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

sam3_coil7(ppm/count)

5640 5650 5660 5670 5680 5690
cycle ID

sam3_coil3(ppm/count)

1 L 1 1
5640 5650 5660 5670 5680 5690
cycle ID

sam3_coil2(ppm/count)

5640 5650 5660 5670 5680 5690
cycle ID

sam3_coil4(ppm/count)

sensitivity

>

1 1. 1 1l 1 oL
5640 5650 5660 5670 5680 5690
cycle ID

sam3_coil5(ppm/count)

-10.5

-11.5

5640 5650 5660 5670 5680 5690
cycle ID

sam3_coil6(ppm/count)

=)

!
o
N
T[T T T T T

1
5640

il 1 L il 1
5650 5660 5670 5680 5690
cycle ID



sam4_coil1(ppm/count) sam4_coil3(ppm/count) sam4_coil4(ppm/count) sam4_coil6(ppm/count)

2 67F > 2 2
2 F 2 2
2 F 215 2 ol 2
g 66 3 3 & F
65 11 1=
E s8f- F
64 105
63f 10 &y l 3
E I [
E T
62] -=
E o5 54~ l [
61 9 [
E -2
sof- 52~ N
E 8.5] L
[ = 1 1 1 1 1 1 1 1 1, 1 ol 1 ] | a 1 1 | 1
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690
cycle ID cycle ID cycle ID cycle ID
sam4_coil7(ppm/count) sam4_coil2(ppm/count) sam4_coil5(ppm/count)
2
s
[ J 2
2
]
8 7
33
_1sf
32
31 —19F
30
29 —20r
28
-
27
I I P R N R b
5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690 5640 5650 5660 5670 5680 5690

cycle ID cycle ID cycle ID



sam5_ coil1(ppm/count)

sensitivity
~
>

N
N
T

1.8 F
16f
1 4:—
E 1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID
sam5_coil7(ppm/count)
=
=
3
% 0|
-2
-3

-4

i”tk# “‘h ;

5640

5650

5660 5670 5680 5690

cycle ID

2
B
h

sam5_coil3(ppm/count)

1 1 1
5660 5670 5680

1
5690

5640 5650
cycle ID
sam5_coil2(ppm/count)
1 j
? 1
5640 5650 5660 5670 5680 5690
cycle ID

sam5_ coil4(ppm/count)

“f++

4
My

it

315

31

1
5640

L. L 1l 1
5650 5660 5670 5680 5690
cycle ID

sam5_coil5(ppm/count)

5640

5650

5660

5670 5680 5690

cycle ID

sensitivity

L
kS

L

sam5_coil6(ppm/count)

## ¥

¢
44

1
5690
cycle ID

1 il 1 L al
5640 5650 5660 5670 5680



samé6_coil1(ppm/count)

-15.5

-16.5|

-17.5)

|
N
®

-18.5]
5640

——

5650 5660 5670 5680 5690

cycle ID

sam6_coil7(ppm/count)

sensitivity

5640

‘

@

5650 5660 5670 5680 5690

cycle ID

[Sy——

sensviy

-1.6]

samé6_coil3(ppm/count)

5640

1 L il
5650 5660 5670 5680

sam6_coil2(ppm/count)

1
5690
cycle ID

5640

5650 5660 5670 5680

5690
cycle ID

sam6_coil4(ppm/count)

22

1
5640

L. 1 2l 1
5650 5660 5670 5680

sam6_coil5(ppm/count)

L
5690
cycle ID

sensitivity
o
~

5640

5650 5660 5670 5680

5690
cycle ID

samé6_coil6(ppm/count)

f:{'hﬁ-}

1
5690
cycle ID

1 il 1 L al
5640 5650 5660 5670 5680



12.8

sensmviy

12.6

sam?7_coil1(ppm/count)

¢

i

=
2
5
&

-8

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

sam7_coil7(ppm/count)

ALY .

o.\' L

5640 5650 5660 5670 5680 5690
cycle ID

——

sensiviy

nN
o

245

sam7_coil3(ppm/count)

1 1 1 1
5650 5660 5670 5680 5690

5640
cycle ID
sam7_coil2(ppm/count)
5640 5650 5660 5670 5680 5690

cycle ID

sam7_coil4(ppm/count)

22k

sam7_coil6(ppm/count)

1 1. 1 1l 1 oL
5640 5650 5660 5670 5680 5690
cycle ID

sam7_coil5(ppm/count)

5640 5650 5660 5670 5680 5690
cycle ID

1 il 1 L il 1
5640 5650 5660 5670 5680 5690
cycle ID



sam8_coil1(ppm/count)

+ﬁﬂf

11.6

sensmviy

11.4

=
S

H
S
®

P II T TTT[TTT [ TT R TTT T TITTTTT

ul

1 1 1 1
5640 5650 5660 5670 5680 5690
cycle ID

sam8_coil7(ppm/count)

0 [ ]

5640 5650 5660 5670 5680 5690
cycle ID

——

sam8_coil3(ppm/count)

I
N
&

~N
N

5640

1 1 1
5650 5660 5670 5680

sam8_coil2(ppm/count)

1
5690
cycle ID

B

0 5640

5650 566 5670 5680

5690
cycle ID

sensitivity
w
b

sam8_coil4(ppm/count)

1
5640

L. 1 2l 1
5650 5660 5670 5680

sam8_coil5(ppm/count)

L
5690
cycle ID

5640

5650 5660 5670 5680

5690
cycle ID

sam8_coil6(ppm/count)

1
~N
]
T

-2.9]

1 il 1 L il 1
5640 5650 5660 5670 5680 5690
cycle ID



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23


